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doc « Hdid,dname,dfamily,dsalary (doctors)

doc — HD1.did,D1.dname,D1.dfamily,D1.dsalary (GDl.dsalary<D2.dsalary (pp1(doc) X pp; (doc)))

D1
dsalary | dfamily | dname | did
13000 nH OV | 111
17000 M| nwn | 222
22000 "5 | npad | 555

l_[Dl.did,Dl.dnatme,D1.dfamily,D1.dsalary

dsalary | dfamily | dname | did
13000 N oV | 111
17000 1N non | 222

D2
dsalary | dfamily | dname | did
13000 "% P | 111
X 17000 1n9 nwn | 222
22000 "5 | npan| 555
doc
dsalary | dfamily | dname | did _
13000 Bp) Y | 111
17000 1M non | 222
22000 "5 | npat| 555

Op1.dsalary<D2.dsalary (Pp1 (doc) X pp, (doc)
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D1. D2.
dsalary | dfamily | dname | did | dsalary | dfamily | dname | did
= 13000 nY Y0y | 111 | 17000 B non | 222
13000 Bp) 0V | 111 | 22000 "5 | npaa| 555
17000 M| nwon| 222 22000 "5 | npai| 555
1_[D1.did,D1.dname,D1.dfa1m'ly,D1.dsalary
dsalary | dfamily | dname | did — | dsalary | dfamily | dname | did
13000 "5 oY | 111 22000 "5 | npad | 555
17000 12 non | 222
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doctor (did, dname, dfamily, dphone, dcity, dstreet, dhouse, dspeciality, ddatestart, dsalary)
patient (pid, pname, pfamily, pbirthdate)

clinic (cid, ccity, caddress, cname)

treatment (tdate, did, pid, cid)




